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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
145 16.6 3 25 66.4 100

2 145 12.5 3.7 25 50 100
3 145 13.4 5 25 53.5 100
4 145 11.1 5.1 25 44.5 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer Mark AO1 AO2 AO3 AO4 


1. (e)  0-3 marks:  Answers that identify some strategies 


that dentists may use to protect themselves and the 
individuals in their care from the risk of in, with little 
or no attempt at discussion.  Answers convey 
meaning but lack detail.  Little or no use of specialist 
vocabulary. 
 
4-6 marks:  Answers that give a relevant and 


detailed discussion of strategies that dentists may 
use to protect themselves and the individuals in their 
care from the risk of infection.  Answers are well-
structured and clearly expressed.  Specialist terms 
used with ease and accuracy. 
 
Likely answers may include: 
 


 use of barrier methods – disposable gloves, face 
masks, etc 


 use of hygiene methods – regular hand-washing 
by dental professionals 


 biocidal – use of: 
- sterilised instruments/single-use sterile packs 
- mouthwash 
- bactericidal hand gel 


6  2  4 


 












Sticky Note

Barrier, biocidal and hygeine methods are all addressed, so marks are in the higher mark band.  However, descriptions lack specificity:  When exactly should newly sterilised equipment be used?  What sort of infections are prevented by face masks and aprons?  What about gloves?  Is it just the dentist that needs protecting?  Who should be using hand washing gels?
















Sticky Note

Good coverage of barrier methods, though fails to explain clearly who is being protected in each case and confuses X-ray precautions with UV catalysis.  Lack of reference to hygiene and biocidal methods keeps marks in lower band.












Sticky Note

Addresses both barrier and hygeine methods.  Why are barriers useful in infection control?  What might be the role of sterilisation rather then simple washing?  What other sorts of barriers are relevant?  Who is being protected by each measure?  Too little detail and specificity to reach upper mark band.
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	 (e)	 Dentists must protect themselves and the individuals in their care from the risk of infection.
		  Discuss the risk reduction strategies that dentists might use.	 [6]
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Question Answer Mark AO1 AO2 AO3 AO4 


2. (b) (i) Award up to a maximum of 4 marks for a full 
description of the key principles of the treatment of 
sewage (waste water). 
 
Likely answers may include: 
 


 separation and isolation of sewage flow 


 settlement and separation of solids 


 treatment of water, reducing pathogen content 


 carefully controlled discharge, away from fresh 
drinking water supplies and bathing areas 


 treatment/digestion of separated solids 


4 4    


  (ii) 0-3 marks:  Answers that identify a number of 


aspects of why sewage management contributes to 
the maintenance of health in modern societies, with 
little or no analysis – or give a detailed analysis of 
one aspect.  Answers convey meaning but lack 
detail.  Little or no use of specialist vocabulary. 
 
4-6 marks:  Answers that give some relevant 


analysis of a number of aspects of why sewage 
management contributes to the maintenance of 
health in modern societies.  Answers convey 
meaning, with some use of specialist vocabulary. 
 
7-8 marks:  Answers that give a relevant and 


detailed analysis of why sewage management 
contributes to the maintenance of health in modern 
societies.  Answers are well-structured and clearly 
expressed.  Specialist terms used with ease and 
accuracy. 
 
Likely answers may include: 
 


 water is a vehicle of transmission for many 
diseases 


 separation of sewage from contact with 
individuals 


 separation of sewage from drinking water 
sources 


 appropriate reference to the Broad Street Pump 
and/or Dr John Snow 


 prevents/reduces direct transmission of 
waterborne disease 


 less diseased individuals 


 breaks the cycle of infection/re-infection 


 reduces the reservoir of infected individuals, 
therefore further reducing the likelihood of 
disease transmission 


 
(Accept any other reasonable answer.) 


8  2 3 3 


 












Sticky Note

A good account.  "Hummus" should be read as "humus" - quite unusual for this term to be used in the UK, but is an acceptable rendering of the biological treatment stage.



Sticky Note

Makes the link between sewage treatment and waterborne disease, and links the treatment to a reduction in ill people.  However, this response contains the obvious error of assuming that sewage treatment is directly linked to drinking water.  The failure to discuss in any way the 
relevance of the cycle of waterborne infection and how sewage management  is designed to break this cycle keeps the mark in the lower band.












Sticky Note

There was nothing here to indicate any clear knowledge or understanding of the process. "filtered to get rid of big lumps" is close to one mark for screening, but needed to be clearer on what the "big lumps" might be.



Sticky Note

Nothing of relevance here.












Sticky Note

There was nothing here to indicate any clear knowledge or understanding of the process. "filtered to get rid of big lumps" is close to one mark for screening, but needed to be clearer on what the "big lumps" might be.



Sticky Note

Nothing of relevance here.
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	 (b)	 Water is one of the vehicles of transmission for infectious diseases such as athlete’s foot.


	 (i)	 Describe the key principles of the treatment of sewage (waste water).	 [4]


	


	


	


	


	


	


	


	


	 (ii)	 Analyse how the treatment of sewage contributes to the maintenance of health in 
modern societies.	 [8]
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Question Answer Mark AO1 AO2 AO3 AO4 


3. (e) (ii) 0-3 marks:  Answers that give a limited/basic 


discussion of some lifestyle changes an individual 
could make to reduce the risk of coronary artery 
disease.  Answers convey meaning but lack detail.  
Little or no use of specialist vocabulary. 
 
4-6 marks:  Answers that discuss a range of 


suggested lifestyle changes an individual could 
make to reduce the risk of coronary artery disease 
and show some understanding of why the changes 
would be beneficial.  Answers convey meaning, with 
some use of specialist vocabulary. 
 
7-8 marks:  Answers that give a comprehensive 


discussion of lifestyle changes an individual could 
make to reduce the risk of coronary artery disease, 
showing in-depth understanding of why the changes 
would be beneficial.  Answers are well structured 
and clearly expressed.  Specialist terms used with 
ease and accuracy. 
 
Likely answers may include: 
 
Managing stress – reduced blood pressure leading 
to less likelihood of artery wall damage, giving less 
opportunity for plaque to build up, and clot formation. 
 
Sensible diet high in fruit and vegetables, and 
reduction in alcohol intake – decreased 
weight/obesity and lower blood cholesterol, 
discouraging plaque formation. 
 
Sensible exercise regime – increased 
fitness/capacity of heart muscle, resulting in less 
demand on cardiovascular system. 
 
Giving up or reducing smoking – decreased 
stickiness of platelets, giving rise to less clumps and 
blockages.  Also, increased efficiency of oxygen 
transfer in lungs and less intake of CO. 


8  2 2 4 


 












Sticky Note

A good range of changes suggested with relevant discussion of how these changes will reduce risk.  It is not necessary to hit every point in the mark scheme to achieve full marks.




















Sticky Note

Just a basic list with no explanation.












Sticky Note

A range of changes addressed, with some relevant discussion of how some of the changes would help to reduce the risk.
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ii) Discuss the lifestyle changes an individual could make to reduce the risk of coronary
artery disease.	 [8]
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